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The amount of money spent on Thanksgiving dinner for ten people is said to be normally distributed at $45.16 with a
standard deviation of $1.85

1. You randomly selected a family of ten determine the probability that you selected a family that spent $47.66 or
more on thanksgiving dinner for their family
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2. Yourandomly selected a family of ten determine the probability that you selected a family that spent $43.24 or

more on thanksgiving dinner for their family
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Sketch the scenario on the provided normal curve
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3. Yourandomly selected a family of ten determine the probability that you selected a family that spent $48.78 or

less on thanksgiving dinner for their family
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The amount of money spent on Thanksgiving dinner for ten people is said to be normally distributed at $45.16 with a

standard deviation of $1.85

4. You randomly selected a family of ten determine the probability that you selected a family that spent $42.61 or

less on thanksgiving dinner for their family
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d a family of ten determine the probability that you selected a family that spent between

5. You randomly selecte
$41.97 and 50.00 on thanksgiving dinner for their family
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6. You randomly selected a family of ten determine the probability that you selected a family that spent less than

$46.00 or more than $50.75 on thanksgiving dinner for their family
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The height of a certain type of tree is normally distributed and typically is 2.5 meters with a standard deviation of 0.6 meters :

7. Yourandomly selected a tree in the bottom 9% of all tree of this type
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8. Yourandomly selected a tree in the bottom 48% of all tree of this type

What is the associated Z score in this scenario? &= 05 Round to TWO decimal places
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9. Yourandomly selected a tree in the bottom 59% of all tree of this type

Sketch the scenario on the provided normal curve
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The height of a certain type of tree is normally distributed and typically is 2.5 meters with a standard deviation of 0.6 meters :

10. You randomly selected a tree in the top 11% of all tree of this type
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11. You randomly selected a tree in the top 46% of all tree of this type

What is the associated Z score in this scenario? { 2 { ( Round to TWO decimal places

What is the probability statement for this scenario? ‘§Z C)( 2_, T) e Lt (0

—

meand SO(E) = 25+ 0l D“g‘g@

What is the associated height with this problem?

0S40 O HLOO

(' 539)
%:HO c{r

Sketch the scenario on the provided normal curve
15t

12. You randomly selected a tree in the top 63% of all tree of this type
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The length of a time required to manufacture a particular part is normally distributed and typically is 2.6 minutes with
a standard deviation of 0.2 minutes

13. Determine the probability that you randomly selected a part that took between 2.3 minutes and 2.7 minutes
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The duration of cook time for a thawed sixteen pound turkey is said to be normally distributed and is typically 5.25

hours with a standard deviation of 0.25 hours
e
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16. Determine the probability that you randomly selected aEaa that took less than 5.14 hours OR more than 5.5
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17. Determine the probability that you randomly selected a}art thaf took less than 5.3 hours OR more than 5.75
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that_took less than 5.04 hours OR more than 5.15
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19. What was the piece of given information that was unnecessary to determine the answer in any of the problems
above, but probably set the mean and standard deviation for this problem? Vol\b )Y“’\%* & Yo,




The average cost of a family of four’s vacation for one week’s time is said to normally distributed and typically is
$4300 with a standard deviation of $125

20. According to the given information, find the missing price of a family of four's week vacation if you know that
65% of the families took a vacation for between $4100 and T dollars
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21. According to the given information, find the missing price of a family of four’s week vacation if you know that
15% of the families took a vacation for between $4000 and W dollars
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22. According to the given information, find the missing price of a family of four’s week vacation if you know that
12% of the families took a vacation for between 54400 and R dollars
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The average cost of a family of four’s vacation for one week’s time is said to normally distributed and typically is

$4300 with a standard deviation of $125
o the given information, find the missing price of a family of four’s week vacation if you know that

23. According t
58% of the families took a vacation for between Q dollars and $4500
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24. According to the given information, find the missing price of a family of four’s week vacation if you know that

26% of the families took a vacation for between K dollars and $4250.
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25. According to the given information, find the missing price of a family of four’s week vacation if you know that

22% of the families took a vacation for between H dollars and $4450
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The amount of time spent on media each day by teens is said to be normally distributed and typically 9 hours with a
standard deviation of 0.75 hours.

26. According to the given information, find the missing time that a teen spends on media if you know that 48% of
the teens polled spent less than G hours OR more than 10.5 hours

& =il

What are the associated Z scores in this scenario? and Round to TWO decimal places
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27. According to the given information, find the missing time that a teen spends on media if you know tha@ of
the teens polled spent less than L hours OR more than 8.5 hours O. '8"(:
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28. According to the given information, find the missing time that a teen spends on media if you know that 12% of
the teens polled spent less than F hours OR more than 11.5 hours
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The amount of time spent on media each day by teens is said to be normally distributed and typically 9 hours with a 6 |

standard deviation of 0.75 hours.

29. According to the given information, find the missing time that a teen spends on media if you know that 36% of

the teens polled spent less than 7 hours OR more than Y hours
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30. According to the given information, find the missing time that a teen spends on media if you know that 84% of

the teens polled spent less than 8.5 hours OR more than B hours

ok}  —0.22
U %? and Round to TWO decimal places

What are the associated Z scores in this scenario?

0? © (x égfs‘\ OR ?(x ?_".%\,;-; o.M

What is the missing associated time with this problem? 8’% %g (round to TWO decimal places)

o + O,‘\\?%.(—-Of—z:z:\; ~ (%< 2%8 Ol ﬁi—’[

What is the probability statement for this scenari

Sketch the scenario on the provided normal curve :0)5 f%ol C-0.2% )

31. Accor

ding to the given information, find the missing time that a teen spends on media if you know that 18% of
the teens polled spent less than 6.75 hours OR more than M hours
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